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16 N27 (2) ø5.0 c/24  C=VAR

10 N25 ø5.0 c/24  C=422

1 N43 (1) ø10.0 c/N  C=422
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57 N36 ø6.3 c/14  C=227
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24 N20 (2) ø5.0 c/24  C=427
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1 N34 (1) ø6.3 c/N  C=212

5 N16 ø5.0 c/24  C=212
1 N34 (1) ø6.3 c/N  C=212

6 N16 ø5.0 c/24  C=212
1 N34 (1) ø6.3 c/N  C=212

20 N19 (2) ø5.0 c/24  C=299

16 N18 (2) ø5.0 c/24  C=VAR

10 N15 ø5.0 c/24  C=397

1 N42 (1) ø10.0 c/N  C=397

5 N17 ø5.0 c/24  C=192

1 N35 (1) ø6.3 c/N  C=192

12 N15 ø5.0 c/24  C=397

3 N42 (1) ø10.0 c/N  C=397

10 N15 ø5.0 c/24  C=397

1 N42 (1) ø10.0 c/N  C=397

5 N17 ø5.0 c/24  C=192

1 N35 (1) ø6.3 c/N  C=192

6 N17 ø5.0 c/24  C=192

1 N35 (1) ø6.3 c/N  C=192

12 N15 ø5.0 c/24  C=397

3 N42 (1) ø10.0 c/N  C=397

12 N15 ø5.0 c/24  C=397

3 N42 (1) ø10.0 c/N  C=397

11 N15 ø5.0 c/24  C=397

3 N42 (1) ø10.0 c/N  C=397

12 N15 ø5.0 c/24  C=397

3 N42 (1) ø10.0 c/N  C=397

7 N16 ø5.0 c/24  C=212

1 N34 (1) ø6.3 c/N  C=212

7 N16 ø5.0 c/24  C=212
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3 N42 (1) ø10.0 c/N  C=397
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15 N12 ø5.0 c/24  C=374

3 N41 (1) ø10.0 c/N  C=374

7 N11 ø5.0 c/24  C=292

1 N32 (1) ø6.3 c/N  C=292
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1 N32 (1) ø6.3 c/N  C=292

7 N10 ø5.0 c/24  C=342
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